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1. {304} Bystem of Differmdal Equations. 1442 — 247 3% °

(i} A mechanical syslem of two rasses a# two springs in the following G maras,
find the salutien of ¥ (t) 2rd o0t with juitial conditions of zers,
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(i} Find the currents Ty(ch and L01) in the neswork shown in the following Fre,
assuning 1hat all charges and current are xepo when the switeh iz cloged

=0
L =1 henry C = 0.25 farad
|
I,a-— h1 :
Switch 2 E;}
t=0 % Ri=4
= H
E = 12 volks '_Ij ] o

By = 6 ohms

2. (20%) Fourier analysiz:
Fikf the comvolution of a rectongular pelse 5 and tfanmelar pulse hl'_l__] wherg
{r{r}-t sl | #ier=c, Ose=3
|f=1’ { =0, oianmiss

F. {1024) Stasistics:
Baplain The Central Limit Theodem and zpplication.
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